Unit: Linear Relationships Name
Student Handout 7 Date Pd

PROPORTIONAL AND NON-PROPORTIONAL RELATIONSHIPS

Linear relafionships can be proportional or non-proportional. A proporfional relationship means

that there is a consfant between the values of x and y. Complete the table below fo
review the differences in proportional and non-proportional representations.
PROPORTIONAL NON-PROPORTIONAL

% * Can be writfen as where k is * Can be writfen as where m
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g both and not or does
O | confains the not confain the

Complete each representation for the situafion described below. Then, defermine if the sifuation
is proportional based on each representation.

1. Hillary is looking for a gym to join. A local gym, Forever Fit, is offering a special deal where
new members pay $30 per month with no sign-up fee.

A. EQUATION P. TABLE
[ MONTHS (X) | © | 2 3
COST (Y)
T T

Explain based on each representation:

5 120 : )
O 100 : » equafion:
O :
60 :
40 . fable:
20 :
12 3 456 67 89 10 §°groph:

& MONTHS
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2. Javier is ordering custom sunglasses for an upcoming event. The website he is ordering fro

will charge $2.50 per pair of sunglasses and $5 for shipping.

=)

A. EQUATION P. TARPLE
: | PAIRS (X) 0 2 3
COST (Y)
C. GRAPH 4 : D. PROPORTIONAL?
45
10 : Explain based on each representation:
35 :
— :
3 2(5) © + equation:
O 20
0 : e table:
10
5 -
1 2 34 5 6 78 910 .« graph:
PAIRS :
In 3-8, label the representation as “proportional” or “non-proportional.” Justify your choice.
3. 4. 5.
8
Yy =X X| -9 -8 -7 -6
y | 135 12 10.5 q
6. Denzel has $13.50 and 7. 8.
saves an additional $7.50 each <] s 0 = )
week.
y| 18 20 22 24

d. Kate is cafering food for a luau-themed party and the representafions below compare the cost
of fwo catering companies. Lef x represenf the number of guests and y represent the tofal cost

of the caterer.

250
225
200
175
150
125
100

75

50

25

a. Which company has the greatfer rate
of change? Explain.

b. Which company represents a proportional
relationship? Explain.

TOTAL COST ($)

COMPANY A
®
'S
®
'S
.1IB+5678910

# OF GUESTS

COMPANY B
X
0 0
2 27
4 54
6 81
8 108
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Unit: Linear Relationships
Homework 7

Name

Date

Pd

PROPORTIONAL AND NON-PROPORTIONAL RELATIONSHIPS

In A-D, mark each statement as frue or false. If false, rewrite the statement correcftly.

P

Two studenfs creafed the graphs shown

low.

RAUL PECKY

| A

1. Both graphs represent linear

relationships.

2. Both graphs have a posifive slope.

3. Both graphs represent proportional

relationships between x and y.

VThe fable

represents the amount| TIME | COFFEE
of coffee in a coffee (MIN) (02)
pot based on the o 48
number of minufes the
coffee has been 3 7.2
brewing. 4 a6

5 12

4. The ratio of 3}(1 is not constant.

5. The table represents a proportional

relafionship between x and y.

6. The table can be represented by
y =x+ 2.4.

VThe graph 500
represents the — ___ %0
. €2 400
balance in T o
Jimena’s O 50
- Z
checking accounf < 20
based on the pr
number of days @ Igg
since her last 50
paycheck.

DAYS

7. The relafionship shown on the graph

is non-proportional.

8. The graph represents a linear
relationship with a negative slope.

d. The graph can be represented by
y = 450x — 25.

1 2 3 4565 67 8 910

Two sfudenfs wrotfe the equations

I shown below.

ERICA ALIYAH

y = -O.Sx y = ZSx - 8

10. Graphs of both equations will pass

through the origin.

11. Only Erica’s equation is

proporfional.

12. Both equations have a negafive

slope.
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